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𝑃(𝑥, 𝑦, 0)とする。 

 

∠𝐴𝑂𝑃 ≧
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𝑂𝑃⃗⃗⃗⃗  ⃗ = (𝑥, 𝑦, 0), 𝑂𝐴⃗⃗ ⃗⃗  ⃗ = (0, −1,1)より |𝑂𝑃⃗⃗⃗⃗  ⃗| = √𝑥2 + 𝑦2, |𝑂𝐴⃗⃗ ⃗⃗  ⃗| = √2 𝑂𝑃⃗⃗⃗⃗  ⃗ ∙ 𝑂𝐴⃗⃗ ⃗⃗  ⃗ = −𝑦 

 cos ∠𝐴𝑂𝑃 =
𝑂𝑃⃗⃗⃗⃗  ⃗ ∙ 𝑂𝐴⃗⃗ ⃗⃗  ⃗

|𝑂𝑃⃗⃗⃗⃗  ⃗||𝑂𝐴⃗⃗ ⃗⃗  ⃗|
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≦ −

1

2
 

𝑦
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𝑦 > 0 の条件下で 
𝑦2

2(𝑥2 + 𝑦2)
≧

1
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 2𝑦2 ≧ 𝑥2 + 𝑦2 ∴ 𝑦2 − 𝑥2 ≧ 0 ──① 

 

∠𝑂𝐴𝑃 ≦
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6
より cos∠𝐴𝑂𝑃 ≧ cos
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𝐴𝑃⃗⃗⃗⃗  ⃗ = (𝑥, 𝑦 + 1, −1),𝐴𝑂⃗⃗ ⃗⃗  ⃗ = (0,1,−1)より |𝐴𝑃⃗⃗⃗⃗  ⃗| = √𝑥2 + (𝑦 + 1)2 + 1, |𝑂𝐴⃗⃗ ⃗⃗  ⃗| = √2 𝐴𝑃⃗⃗⃗⃗  ⃗ ∙ 𝐴𝑂⃗⃗ ⃗⃗  ⃗ = 𝑦 + 2 

 cos∠𝑂𝐴𝑃 =
𝐴𝑃⃗⃗⃗⃗  ⃗ ∙ 𝐴𝑂⃗⃗ ⃗⃗  ⃗

|𝐴𝑃⃗⃗⃗⃗  ⃗||𝐴𝑂⃗⃗ ⃗⃗  ⃗|
=

𝑦 + 2

√2(𝑥2 + 𝑦2 + 2𝑦 + 2)
≧

√3
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𝑦 > 0 より 
(𝑦 + 2)2

2(𝑥2 + 𝑦2 + 2𝑦 + 2)
≧

3

4
 2(𝑦 + 2)2 ≧ 3(𝑥2 + 𝑦2 + 2𝑦 + 2) 

 3(𝑥2 + 𝑦2 + 2𝑦 + 2) ≦ 2(𝑦2 + 4𝑦 + 4) 3𝑥2 + 𝑦2 − 2𝑦 ≦ 2 3𝑥2 + (𝑦 − 1)2 ≦ 3 

 ∴ 𝑥2 +
(𝑦 − 1)2

3
≦ 1 ──② 

 

 

求める範囲は、𝑦 > 0かつ①かつ②である。 

図示すると右図の通りで、原点以外の境界線を含む。 
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